


It is essential that authors specify which statistical methods 
they used.

“Describe statistical methods with enough detail to enable a 

knowledgeable reader with access to the original data to verify 

the reported result”

식견이 많은 독자가 원래의 자료를 가지고 연구결과를 증명할 수 있을 정도
로 충분하고 자세한 통계적 방법을 기술하라.

International Committee of Medical Journal Editors. Uniform 
requirements for manuscripts submitted to biomedical journals, 
Journal of the American Medical Association, 1997; 277: 927-934 .

Vancouver guideline

표본수의 산정 또한 동일한 원칙을 견지하여야 함.



1) 임의로 연구 대상수의 결정

2) 표본수를 계산하는데 필요한 요인에 대한 내용의 언
급이 없는 경우

3) 표본수를 계산하는데 필요한 요인이 있으나, 그 근거
의 제시가 없는 경우

4) 근거가 제시 되어 있으나, 받아들이기 힘든 경우

5) 모든 요인이 있으나, 잘못 계산된 경우

표본수 산정의 기술이 잘못된 경우













 Rare disease

Very low incidence: Logistically feasible 
to recruit enough participants?

Treatments for congenitally abnormal fetuses: Fetal hydrothorax
Incidence: 1 in 10,000 pregnancies
p value: 0.05
β: 0.05
10% reduction in mortality (40% to 30%)

For 600 patients/group
Recruitment pool: 12,000,000



 First-in-Human Drug Trials

• Limited knowledge regarding proper 
dosing

• Potential for serious adverse events
• Should be a pre-determined plan for 

larger (adequately powered) phase III 
trial (ref.) if the drug is successful



두 종류의 진통제의 효과를 비교한 실험
B에비한 A약의 선호도 70%이상
유의수준 5%
검정력 90%
양측검정

H0 (귀무가설): B에대한 A약의 선호도 50%

Example 1

단일 비율에 대한 표본수 계산



모비율 p의 100(1-α)% 구간추정
표본의 크기가 충분히 큰 경우

Example 1

단일 비율에 대한 표본수 계산
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귀무가설하에서 표본수 20명일 경우 95%의 구간추정

Example 1

단일 비율에 대한 표본수 계산 (n=20)
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Confidence interval

Significant

0.28

SignificantNot Significant

95% Probability

0.72

0.7

`1) n = 20

95% Confidence 
interval



가설 검정시 발생 가능한 4가지 상황

표본을 이용한 의사결정
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Confidence interval

Significant

0.28

SignificantNot Significant

95% Probability

0.72
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`1) n = 20

95% Confidence 
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p가 0.7일 때
0.7을 중심으로 하는 정규분포곡선
표준오차
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표준정규분포표
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Explanation of p-percentile

Probability density function of

standard normal distribution

Zp

p



Probabiltiy of obtaining a significant result 
with various sample size

Significant

0.28

SignificantNot Significant

95% Confidence 
interval

0.72

0.7

`1) n = 20

Probability of a 
significant result 
= 42.1%



귀무가설하에서 표본수 50명일 경우 95%의 구간추정

Example 1

단일 비율에 대한 표본수 계산 (n=50)
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Probabiltiy of obtaining a significant result 
with various sample size

Significant

0.36

SignificantNot Significant

Probability of a 
significant result 
= 82.4%
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표본분포의 모양이

좁아지고 뾰족해짐



Probabiltiy of obtaining a significant result 
with various sample size

Significant SignificantNot Significant

Probability of a 
significant result 
= 90%
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95% Confidence 
interval

a 0.7

90% Power
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단일 비율에 대한 표본수 계산



Example 1

단일 비율에 대한 표본수 계산
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Example 1

단일 비율에 대한 표본수 계산 공식
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두 종류의 진통제의 효과를 비교한 실험
B에비한 A약의 선호도 70%이상
유의수준 5%
검정력 90%

H0 (귀무가설): B에대한 A약의 선호도 50%

Example 1

단일 비율에 대한 표본수 계산



Example 1



Example 1

A priori선택

Two선택



Example 1

An a priori analysis 
- performed before conducting the study and at the design and 
planning stage of the study

Post-hoc analysis 
-conducted after the completion of the study



Post hoc power analysis

Retrospective power of an observed effect 
- based on the sample size and parameter estimates 
derived from a given data set. 

Many scientists recommend using post hoc power as 
a follow-up analysis, especially if a finding is 
nonsignificant.



두 종류의 진통제의 효과를 비교한 실험
B에비한 A약의 선호도 70%이상
유의수준 5%
검정력 90%

H0 (귀무가설): B에대한 A약의 선호도 50%

Example 1

단일 비율에 대한 표본수 계산



Example 1

0.05 입력
0.9 입력
0.5 입력

Click



두 종류의 진통제의 효과를 비교한 실험
B에비한 A약의 선호도 70%이상
유의수준 5%
검정력 90%

H0 (귀무가설): B에대한 A약의 선호도 50%

Example 1

단일 비율에 대한 표본수 계산



Example 1

0.7 입력

Click



Example 1

Click



Example 1



Example 1

단일 비율에 대한 표본수 계산
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Example 1
Click



Example 1

Click

경로 및 파일 이름 지정



Post-hoc power analysis

두 개의 진통제의 효능을 비교한 연구

Visual analogue scale (VAS)로 측정한 통증점수

Drug A(n=30): 7 ± 3
Drug B(n=30): 5 ± 2

2-tailed
유의수준 5%

검정력: ?

Example 2

두 평균의 비교에 대한 표본수 계산



Example 2



Post-hoc power analysis

두 개의 진통제의 효능을 비교한 연구

Visual analogue scale (VAS)로 측정한 통증점수

Drug A(n=30): 7 ± 3
Drug B(n=30): 5 ± 2

2-tailed
유의수준 5%

검정력: ?

Example 2

두 평균의 비교에 대한 표본수 계산



Example 2

Post hoc 선택



Post-hoc power analysis

두 개의 진통제의 효능을 비교한 연구

Visual analogue scale (VAS)로 측정한 통증점수

Drug A(n=30): 7 ± 3
Drug B(n=30): 5 ± 2

2-tailed
유의수준 5%

검정력: ?

Example 2

두 평균의 비교에 대한 표본수 계산



Example 2

30 입력

Two선택

0.05입력
Click

30입력



Post-hoc power analysis

두 개의 진통제의 효능을 비교한 연구

Visual analogue scale (VAS)로 측정한 통증점수

Drug A(n=30): 7 ± 3
Drug B(n=30): 5 ± 2

2-tailed
유의수준 5%

검정력: ?

Example 2

두 평균의 비교에 대한 표본수 계산



Example 2
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Example 2

Click



Example 2



"Sample sizes are not provided because there is no prior information on 
which to base them." 

연구에 대한 사전정보가 없는 경우, 표본수의 산출은
연구의 가정과 통계방법에 대한 일반적인 접근 방법-
예) 효과크기-을 사용하여 계산 할 수 있다. 



이전 연구에서 정보가 주어지지 않은 경우
 Effect size 이용

Effect size
Small: 0.2
Medium: 0.5
Large: 0.8

유의수준 1%
검정력 95%

Example 3

두 평균의 비교에 대한 표본수 계산



Example 3



Example 3

A priori선택

Two선택



이전 연구에서 정보가 주어지지 않은 경우
 Effect size 이용

Effect size
Small: 0.2
Medium: 0.5
Large: 0.8

유의수준 1%
검정력 95%

Example 3

두 평균의 비교에 대한 표본수 계산



Example 3
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Example 3



Example 3
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Example 3




